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Uwypuiliplibp 1
30197321f4wnh; FLCUR huwn 400 3 1600
30197234|@nLne A4 $npdwwnh 21* 2.9 PCUR wnncth 2550 10} 25500
30194320§%dwgnwlwl pnLnp PCUR hwn 150 6 900
30197231 npwwwlwl /wynhdbpwyhl/ $uwyjp PCUR wnncth 1000 1 1000
30197232)@n pwwwlwl wpwqwlywp /prpjw/ FCUR hwuwn 60 30§ 1800
30192121)9Unhywynp gphy /ul-Yuwnejn-Jupdhp/ PCUX hwun 100 23 2300
30192100 NkLwnhl FLCUX hunn 150 4 600
22811176[fam.r1p Lznudubph hwdwp/Yuys nil/ FCUX wnncth 300 5 1500
39263200|pwubljwlwihlu qghpp FCUR hwun 450 2 900
24911300jUnuhld pnprh unjwpwpnph FCUR hwn 350 3] 1050
39263420jUdpwly JEwnwnjw thnpp FCUR wincth 100 4 400
30192137)Uwwnpwn gpw$hink Theniyny PCUR hwwn 100 4 400
30197112f4wphs h Umwnwiwpkp Jhghl FCUR wincth 100 4 400
30192114)Rwlwp 2nwdujh FCUR hwwn 250 1 250
30192760jUnhs unynpwlwl PCUR hwwn 150 2 300
30197121juntqwy Epljwpjw FCUX wincth 150 Kl | 450
22811100 wuwdwinjwllknp FCUR hwn 500] 12 6000
30192160)cwinphfulitp jrPCUR huwin 250 1000
30197331)wlhs pwlunluny FCUI huwun 800 1600
30199232)'6nwp A 4 pnph hwdwp FCUX hwun 60 10| 600
39292510jRwlnl wjwuwnhl FCUR hwn 150 3] 450
30197122funtiqwd wjwuwndwuk gifuhlyny PCUX wincth 350 700
30192720)96wlzh; /Jwplybp/ PCUR hun 150 300
33761000j@nLnp qnrqupwlh nnpnlny PCUI hwn 100 68| 6800
31531210} EYyinpuwljwl jwdw 100 Jwwn FCUR hwun 100 40' 4000
31531220} EYwnpwlwl pwdy 150 Juwwn FLCUR hwn 200 30 6000
39835000)3wwnwly JwppknL &nn FCUX hwwn 550 1100
39812600fUwpnnn JwanLyukp b thnzh /nwfupw/ FCUR hwn 450 2700




39831240)Uwppnn WynLpbp /dwyky/ PCUR huwin 150 10] 1500
39831245|3tnph htnnLy ofwn PCUR hwn 450 3 1350
39831270jUwnLug FCUX hwwn 400 3' 1200
39831280Uwwhh Jwppnn hEnnLy FCUR hwn 500 3] 1500
36831247'U|.uarmq UjnLp funnnywlutkph hwywfugwlhs/Yanwn/ FCUR hwn 600 2 1200
18421130]aknlng PCUI hwuwn 350 10] 3500
39224332|Mn); Gplywpb FCUX hwwn 1500 2 3000
39224341jUnpwplyn wjwuwndwuhg PCUR hwn 900 2 1800
39831240) UwppUwl UynLpbp/nndkunnu/ FCUX hwwn 1050 1 1050
39839300)9nquwphwl PCUX hwin 450 2 900
39525100)®nznL hwiwpdwl Yuinnplkp FCUR hwwn 500 2 1000
39831283Rwwnwl dwppkinL (wp FCUR hwtn 700 12 8400
39836000JUy kL FCUX hwwin 1000 12 12000
39522250)®nznL hwwpdwl Yunp FCUR hwn 100] 104 1000
33141112jUwyEnwuh N210 PCUX wncth 50 62 3100
33141134Mhpwlhwy  7*14 /uwnbphy/ [STE wninLth 100 4 400
33631170fSEwnnwahlhlt 1000gN210 FCUR inncth 100 3 300
33141115|Fwdpwl 50qp PCUX wnncth 120 8[ 960
33661122|Mwpwgkunwdng FCUR wnncth 60 10' 600
33661721jULwighl 500U} FCUI wnncth 70 10| 700
2224600042 np tphy/uwynpin wlqqujwgling uthpky/ PCUR 3L 3200 10} 32000
3366217o|uut|n.$t:u PCUR wninLth 160 10 1600
33693000|hunndtwnwghl FCUR wincth 350 1 350
37451416|qUnwllutp pwulybwnpnih FCUR hwn 5000 10 50000
44521120|nnwl thwlwl FCUR hwn 2800 4 11200
44411100/ Jwgwpwlh &npwl jFCUR hwn 2500 3 7500
44111414 ||winbkpuwlkply FCU3 thup 8500 2 17000
44921500 |sEthwifwshy FCUR wjuply 3500 2 7000
44192700 |ubpYwqpuliwly FCUR hwn 2300 1 2300
44811300 nLnwlkply FCUR lq 2500 2 5000
44423400|gnLgwliwl uu hwn 20000 1 20000
44221100 |wywwnnchwl uu. hwuwn 25000 2 50000
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